1 2 3 4 5 6 7 8 yht
Voitto Vaisanen |Kontiomaki 1424 1S70 | 1 1 1 0 0 0 |05 0 | 25
Jorma Mether Lempaala 1733(S80|2| O 1 0 0 0 0 1 2
Tuomo sukanen [Tampere 1346 |S60| 3| O 0 0 0 0 1 0 1
Erkki Pursiainen |Jyvaskyla 1686 (S804 1 1 1 0 1 1 |05]|55
Voitto Sarkilahti [Tampere 1866 [ S70 | 5| 1 1 1 1 0 1 1 6
Jyrki Alkkiomaki [Turku 1878 | S70 | 6| 1 1 1 0 1 1 1 6
Lauri Vettanen Kangasala 1577 1S80| 7| 0.5 1 0 0 0 0 0 | 15
Edvi Kvist Tampere 1551 |S80 |8 1 0 1 1]05| O 0 1 3.5
28
1.kierros
Voitto Vaisanen 1 — Edvi Kvist 8 0-1
Jorma Mether 2 — Lauri Vettanen 7 0-1
Tuomo sukanen 3 — Jyrki Alkkiomaki 6 0-1
Erkki Pursiainen 4  — Voitto Sarkilahti 5 0-1
2.kierros
Edvi Kvist 8 — Voitto Sarkilahti 5 0-1
Jyrki Alkkiomaki 6  — Erkki Pursiainen 4 0-1
Lauri Vettanen 7 — Tuomo sukanen 3 0-1
Voitto Vdisdanen1  — Jorma Mether 2 1-0
3.kierros
Jorma Mether 2 — Edvi Kvist 8 1-0
Tuomo sukanen 3  — Voitto Vaisdnen 1 0-1
Erkki Pursiainen4  — Lauri Vettanen 7 1-0
Voitto Sarkilahti 5  — Jyrki Alkkiomaki 6 0-1
4 kierros
Edvi Kvist 8 — Jyrki Alkkiomaki 6 0-1
Lauri Vettanen 7 — Voitto Sarkilahti 5 0-1
Voitto Vaisanen 1 — Erkki Pursiainen 4 0-1
Jorma Mether 2 — Tuomo sukanen 3 1-0
5.kierros
Tuomo sukanen 3 — Edvi Kvist 8 0-1
Erkki Pursiainen4  — Jorma Mether 2 1-0
Voitto Sarkilahti5  — Voitto Vaisdanen 1 1-0
Jyrki Alkkiomaki 6  — Lauri Vettanen 7 1-0
6.kierros
Edvi Kvist 8 — Lauri Vettanen 7 1-0
Voitto Vaisanen 1 — Jyrki Alkkiomaki 6 0-1
Jorma Mether 2 — Voitto Sarkilahti 5 0-1
Tuomo sukanen 3  — Erkki Pursiainen 4 0-1
7 kierros
Erkki Pursiainen 4 — Edvi Kvist 8 Y-Ys
Voitto Sarkilahti5  — Tuomo sukanen 3 1-0
Jyrki Alkkiomaki6  — Jorma Mether 2 1-0

Lauri Vettanen 7

— Voitto Vadisanen 1
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